R#ETFAN XF ER & o1

1. XoXzZEHHTX. (SH308, A0, BFK1520%, CH24y)

(1 (@+2)(y+5) @) (@+3)(y-1)

3 (a—2)(b+4) 4)  (a—4)(a—23)

2. XOAZEFE L (SHKAOW, Afh19y, BE17340%, C#k245330% )

(1) (a=0b)(c—4d) (2)  (z+3a)(y—4b)

(3)  (a—2b)(2¢c+d) (4)  (2a+b)(3a—b)

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

3. ROXZERHEX. (SH30F, AR08, B#143208, CH25)

(1) (x+3)(y+2) 2 (z+2)(y-1)

3)  (a—7)(b+4) (4)  (a+5)(a—4)

4. ROAZEFE L. (S0, Afh14y, B#173408, C#2330%)

(1) (a—0b)(c+d) (2) (2 +5a)(y — 4b)

(3)  (a—2b)(3¢—d) (4)  (2a —b)(3a — 2b)
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1.

2.

REFAN XF BB W 01 MREMD

ROXZ T L. (SHh30%, AfKs50®, Bik13208, Cik29)

* FEARX (a+b)(c+d) =ab+ ad+ be+ bd

(1 (z+2)(y+5) @) (@+3)(y-1)
=xz(y+5)+2(y+5) =z(y—1)+3@y—1)
=xy + 5 + 2y + 10 =zxzy—x+3y—3

3)  (a—2)(b+4) 4)  (a—4)(a—3)
=a(b+4)—-2(b+4) =a(a—3) —4(a—3)
=ab+4a —2b—8 =a?—3a—4a+ 12

=a?—Ta +12

PAGCTE S VEIOFE Mo Ry gAY

ROAXNZERE L. (SH40F, A1, B#1340%, CH247 308 )

(1) (a—0b)(c—d) (2)  (z+3a)(y — 4b)
=ac — ad — be + bd =xy — 4bx + 3ay — 12ab
(3)  (a—2b)(2¢c+d) (4)  (2a+b)(3a —b)
= 2ac + ad — 4bc — 2bd = 6a% — 2ab + 3ab — b?
= 6a? + ab — b?

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

3. ROXZERHEX. (SH30F, AR08, B#143208, CH25)

1) (z+3)(y+2) 2 (@+2)y-1
=xzy+2xr+3y+6 =xy —x+ 2y — 2

3)  (a—7)(b+4) 4)  (a+5)(a—4)
=ab+ 4a — 7b — 28 =a® —4a + 5a — 20

=a%?+4+a—20

4. ROAZEFE L. (S0, Afh14y, B#173408, C#2330%)

(1) (a—0b)(c+d) (2) (2 +5a)(y — 4b)

=ac + ad — bec — bd =xy — 4bx + 5ay — 20ab
(3)  (a—2b)(3¢—d) (4)  (2a —b)(3a — 2b)

= 3ac — ad — 6bc + 2bd = 6a2 — 4ab — 3ab + 2b2

= 6a? — Tab + 2b?
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